
,> 

ROOKLEI'  NO. 

m - 1  
m a -  



W & ;irmr /SPACE FOR ROUGH WORK 



(3) ~ $ m ~ W f ~ d * ~ ~ *  

whit*: 

(1) (3) * F (2) (3) * 
(3) m7F (4) 

4. *RV3m. 

(a) mr&b~mm~-TmnSTTfb l3 -Tmnm~~v* .  

(q) ml%m%+t*~. 
whit*: 

(1) - (a) v (2) m(3v 
(3) (a)STTfbl(q)m* (4) (a)sTlfbl(q)m~ 

- - 

TPlT& 3 F l T  /SPACE FOR ROUGH WORK 

P.T.O. 



8. *mm. 
(w) T P I ~ P J ~  (i) FM 
(a) mve-4 (ii) rn d 
(*) =&;~~iitd[ (iii) h h d v e - 4  
d*: 

( X ) ( T )  ( 5 )  

(1) (iii) (ii) (i) 

(2) (2) (iii) (1) 

(3) (i) (iii) (ii) 

(4) (ii) (i) (iii) 

airmTllijf /SPACE FOR ROUGH WORK 

---- 



15. ' m ~ m ~ m m s r r m r ' s r a r w m r m f k a .  
(1) F F I * ~  (2) meiim (3) %ez(eii -34 (4) *eii rn 

16. ' W k F I ~ $ @ l T h ' & l '  - 3 $ W h  

( 3 )  7f%3l (*I m ( 3 )  **: 
(I) ( 3 )  m(*)*rn?&~ ((2) V m ( " ~ ) * m a F d ~  

( 3 )  m (3 )  * ( 4 )  -(*) **F 

TIT&? 3 T V  /SPACE FOR ROUGH WORK 

P.T.O. 
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17. -3%h&*'STTif', '<I, 'd', 'm', ' X I ' ,  'Fi', 'w', 'W', '4', 's '  - 9 1 d W T 4  

@Q? ~ m r m n ~ .  
(1) - (2) w (3) - 

--- 
(4) - 

IS. * d ~ .  
( a )  ~ ~ ~ ~ ~ ~ ~ ~ r n m m r ; s m ? s ~ f + i r ; m ; n = m ~ .  
(-) 37-mmmrnmm. 

m*: 
(1) *(a)* (2) 353 ( s )  * 
(3) (37) rn ( 3 )  * 4 ( 3 )  m (X) T 5  

21. ' ~ ~ ~ * ~ = i m m m m * .  T;r r ;T l ; imd=*  
~ f H t w 3 ~ ~ m i m ~ .  ~ ~ n 3 v r r n f % m ~ m .  WoTiS-oli5 
M. m M d a * * * M q + + - ~ m d ~ . ~ ,  
~~- f -msmm*m:  
(1) d m d  (2) rn 
(3) 4Xd m d (4) &3 wi 

--- 
/SPACE FOR ROUGH WORK 



23. *I m. 
(q) K&O~ ~~m-4 (i) ?Pisifria 

( q )  m ~ m  (ii) men 
(3) 9- rn (iii) rn 
(3 )  %?FfelWTQ (iv) WGRW 

m*: 
(JT)(a) ( W ) ( 3 )  

(1) (ii) (iv) (iii) (i) 
(2) (iv) (i) ( i )  (ii) 

(3) (iii) (i) (iv) (ii) 

(4) (iii) (i) (ii) (iv) 
-- 

3TVr /SPACE FOR ROUGH WORK 

P.T.O. 



29. G E h W W T i f b W h ~ ~ .  

(a) %w gFsi;TI fY~+m. 

( 3 )  mmr3m d. 
(i) M-d (ii) --# (iii) dft ;m'nir (iv) +H-?Zffi 

mJ.iir: 

(1) *(i)* (2) WH (iii) & 
(3) m (iv) & (4) WH (ii) * 

--- 

30. * d 1 W R i 7 ' ,  ' ~ % % ' P I ~ ~ ~ ~ ~ ~ ~ ~ ?  

(1) M *m (2) FFm (3)  *item; (4) T f c m  3w 

-- -- 

T P T l U d  W /SPACE FOR ROUGH WORK 



(*I * (iii) * t, &, snf TI 

(3 )  J T ~ Z F ~ ? ~  (iv) d, *, * 
~ ~ ~ ~ f a a :  

(rn)(T) (75) (3 )  

(1) (iv) (iii) (ii) (i) 
(2) (ii) (iv) (iii) (i) 
(3) (i) (ii) ( i )  (iv) 
(4) (iii) (i) (iv) (ii) 

- - - - - 

T F 4 T d  T F K  /SPACE FOR ROUGH WORK 

P.T.O. 



MOS 10 

39. g r d T ; t - f ~ * & ~ m * * p = m * ?  

( I )  S1vm (2) m (3) d e n  (4) uva 
- -- 

40. 'd 3WWR ;rm WiT&'T meml~;m; *? 

(1) TF+ (2) m (3) (4) Tf-'- 

?WSV WWV& ;irmr /SPACE FOR ROUGH WORK 



48. d f & k 3 l ~ C ? k V % h ~ ~ .  

3T-w T - w  

(3) (i) ' * (ii) 3 ~ i 7  

* )  f%~~Pif (iii) "ris 
(3) Tff (iv) T 

Psfdf*: 
(s)(T) (a;)(a) 

(1) (iii) (iv) (i) (ii) 
(2) (iii) (i) (iv) (ii) 
(3) (iii) (ii) (iv) (i) 
(4) (iv) (i) (i) (ii) 

49. T i r s m W t * e f m * ?  
(31) ~rn@feraa7gWM*. 
(3 )  m@-gWMw. 
(W w ~ * @ @ .  
(3) *-w9it*. 
whit*: 
(1) r n ( W T h m 3 d T 6  (2) (q), - (*I, (3) 9F 
(3) ( ~ f i )  *mTl49F (4) Fm (3) * m 3 d ~  

TlWd 3PlI /SPACE FOR ROUGH WORK 

P.T.O. 



50. ' * m m m m & ' ~ [ m m m ~ - r ~ d m ~ .  - 

(I! m (2) (3) FjilfFha (4) w+f3 * 

W F i T W d  /SPACE FOR ROUGH WORK 



'%6SWTPTW& 3PlT /SPACE FOR ROUGH WORK 

P.T.O. 
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MOS 14 

57. ~ ~ ~ ~ * m ~ * ~ ?  
(a) Fm-idhm-(rmm*. 

(3) -mm-(rmm*. 

(W rnm+lrn&. 

(3)  + r m m ~ ~ i 7 m ~ * .  

*d: 

(1) - 0) 4 (3)  (2) - (3) * 
(3) Wfa(W* (4) 

5s. r n . ~ 4 i a l l ~ ~ w h ~ + & ~ ~ ?  

(1) -- (2) - * 
(3) w-- (4) m r m - ( r m *  

60. r n . w & M ~ J i m g u w ~ & ?  

(a) ~ ~ ~ ~ v m f 4 4  0) w ~ 4 w m ~ S l m d t  

(=I m - r - m  (3)  mvmi+l 

*d: 

(1) (a)4(3)& (2) m ( w ) *  

(3) (a)8(3)- (4)  fa * 
W W ' d  3 T T  /SPACE FOR ROUGH WORK 



61. Choose the correct sentence. 

(1) The jury were divided in its opinions. 

(2) The Secretary and Treasurer is negligent of his duty. 

(3) Every soldier and every sailor were in his place. 

(4) Either the manager or his assistants failed in his duty. 

62. Which one of the following l i e s  uses capitalisation correctly ? 

(1) If winter comes, can spring be far behinds ? 

(2) If Winter comes, can Spring be far behind ? 

(3) If winter comes, can Spring be far behind ? 

(4) If Winter comes, can spring be far behind ? 

63. Which of the alternatives would be equivalent to the following sentence ? 
I 

I am as strong as he. 

(1) He is stronger than I. (2) He is not stronger than I. 
(3) He is so shong as I am not. (4) None of the above 

64. Choose the best meaning of the word in capitals in the following sentence. 

They might do the job if you DANGLE a bonus in front of them. 

(1) To parcel objects (2) To praise in appreciation 

(3) To reduce as a punishment (4) To offer as an attraction 

65. 'In addition to useful advice, he gave me financial help.' 

Which one of the following sentences converts the simple sentence above into a compound 
sentence by using cumulative conjunction ? 

(1) He gave me financial help and added to useful advice. 

(2) He not only gave me useful advice but financial help also. 

(3) He gave me not only useful advice but financial help also. 

(4) He not only gave me financial help but also useful advice. 

66. Choose the correct sentence/s : 

(a) Which is your friend ? 

@) Which are your books ? 

(c) Which will you take ? 

Answer options : 

(1) (a) only (2) @) only (3) (a) and @) only (4) (4, (b) and ( 4  

XWU& /SPACE FOR ROUGH WORK 

P.T.O. 



67. Choose the correct expression out of the alternatives : 

(1) Bury the hatchet (2) Bury the hatch 

(3) Bury under the hatchet (4) Bury over the hatch 

68. 'Her bank fell down from her purse.' 

The underlined word 'bank' in the sentence above means 

(I) side of a river 

(2) row of keys 

(3) financial institution 

(4) balance 

69. Choose clause/s of time from the given sentences. 

(a) I will do it when I think fit. 

@) They can stay where they are. 

(c) As he came into the room all rose to their feet. 

Answer options : 

(1) (a) only (2) (a) and @) only 

(3) (a) and ( 4  only (4) (a), @) and (c) 

70. Which of the following sentences uses subjunctive mood to express a purpose ? 

(a) Work hard that you may succeed. 

@) Work hard to succeed. 

(c) Work hard with a purpose to succeed. 

(d) Work hard purposefully to succeed. 

Answer options : 

(1) (a) only (2) @) only (3) (4  only (4) Both (c) and ( 4  

71. Choose the correct passive form of the following sentence : 

He will finish the work &I a fortnight. 

(1) The work will be finishing by him in a fortnight. 

(2) The work will have been finished by him in a forhight. 

(3) The work will be finished by him in a fortnight. 

(4) The work will have finished by him in a fortnight. 

/SPACE FOR ROUGH WORK 



72. Which one of the following sentences expresses a planned action in near future ? 

(1) We shall play the match in half an hour. 

(2) We shall be playing the match in half an hour. 

(3) We are playing the match in half an hour. 

(4) We will play the match in half an hour. 

73. (a) He has a white stone in his pocket. 

@) He can turn into a rabbit. 

Which one of the following is the correct adjectival clause joining the two sentences 
above ? 

(1) Which he can turn into a rabbit. 

(2) Who can turn into a rabbit. 

(3) Whose pocket can turn into a rabbit. 

(4) Whose stone can turn into a rabbit. 

74. Match the following : 

(a) Consensus (i) Has the same meaning as 'redundant' 

@) Otiose (ii) Opposite can be formed by adding 'dis' 

(c)  Believe (i) Opposite can be formed by adding 'un' 

(d) Acceptable (iv) Refers to general agreement 

Answer options : 

(a) (b) (4 (4 
(1) (i) (ii) (i) (iv) 

(2) (ii) (iii) (iv) (i) 

(3) (iii) (ii) (iv) (i) 

(4) (ii) ( i )  (i) (iv) 
- 

75. 'None of us knew the way'. 

Which one of the following is a correct sentence with tag-question corresponding to the 
sentence above ? 

(1) None of us knew the way, did we ? 

(2) None of us knew the way, didn't we ? 

(3) None of us knew the way, none of we ? 

(4) None of us knew the way, didn't us ? 

d 3Fll /SPACE FOR ROUGH WORK 

P.T.O. 
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76.  Out of the four alternatives choose the one that can be substituted for the given words/ 
sentence as the phrase or group of words. 

A person who studies the formation of the earth. 

(1) Meteorologist (2) Anthropologist (3) Geologist (4) Seismologist 

77. 'The ship has its complement of 150 passengers'. 

The underlined word in the sentence above means 

(a) praise @) flattery 

(c) full amount (d) supplement 

Answer options : 

(1) ( 4  only (2) @) only (3) (a) only (4) ( 4  only 

78. W c h  one of the following sentences is correct m the use of tense referrmg to habitual 
actlon ? 

(1) He often went to Shimla to see his parents. 

(2) He often goes to Siumla to see his parents. 

(3) He has often gone to Shimla to see his parents. 

(4) He often plans to go to Shunla to see his parents. 

79. Choose the correct sentences in terms of use of pronouns. 

(a) They themseLf admtted theu guilt. 

@) I wiU do it ourselves. 

(c) The town itselves 1s not very large. 

Answer options : 

(1) (a) only (2) @) only 

(3) (a) and ( 4  only (4) None of the above 

80. The accused said, "Sir, I am innocent". 

Which one of the following sentences changes the sentence above into indirect speech ? 

(1) The accused said that he was innocent. 

(2) The accused told that he was innocent. 

(3) The accused pleaded that he was innocent. 

(4) The accused pleaded not $9. 
- 

Z F l T d  T ' l T  /SPACE FOR ROUGH WORK 



81. Find out the correct idiomatic expression from the given options : 

Brandy words with. 

(1) argue (2) oratory 

(3) speech enthusiast (4) linguistic acumen 

- - 

82. Choose the best opposite meaning of PLAUSIBLE. 

(1) lnplausible (2) Implausible (3) Displauslble (4) Feasible 

83. Which of the following contain correctly placed adjective ? 

(a) Apparent heir 

(b) Time immemorial 

(c) , Elect viceroy 

Answer options : 

(1) . (a) only . . (2) .(a).and (b) only (3) @) only (4) @) and (c) only 

84. Choose the pair of words that would f i l l  in the blanks in the following sentence sequentially. 

(a) A target is easiest to aim at. 

@) 1 bought some pencils at the 

Answer options : 

(1) stationer's, stationary (2) stationery, stationary 
- .  , 

(3) stationary, stationery (4) stationary, stationer's 

85. Choose the correct sentences : 

(a) Bread and milk is his only food. 

(b) The horse and carriage is at the door. 

(c) Every boy and girl was ready. 

Answer options : 

(1) (a) only (2) (a) and ( 4  only 

(3) (a), (b) and (c) (4) None of the above 

86. Choose the best meaning of the word printed in capitals in the following sentence : 

The report OBFUSCATES the principal points. 

(1) Irritate (2) Empire (3) Infuse (4) Confuse 

G l l T  /SPACE FOR ROUGH WORK 

P.T.O. 



87. Choose the alternative that is the correct equivalent to the following sentence : 

Lead is the heaviest of all metals. 

Answer options : 

(1) Lead is as heavy as all other metals. 

(2) Lead is heavier than all other metals. 

(3) Lead is very heavy than all other metals. 

(4) None of the above. 

88. 'It does not matter whether we win or lose ? 

Which one of the following sentences changes the sentence above into interrogative ? 

(1) Doesn't it matter whether we win or lose ? 

(2) What matters whether we win or lose ? 

(3) Does it matter whether we win or lose ? 

(4) Does it matter whether we don't win or we don't lose ? 

89. Match the homophones - 'Vein', 'Vain' and 'Vane' with their correct meaning : 

(a) Vein - (i) weathercock 
@) Vain - (ii) hlood artery 
(c) Vane - (iii) conceited, proud 
Answer options : 

(4 (b) ( 4  

(1) (iii) (i) (ii) 

(2) (ii) (iii) (i) 

(3) (i) (i) (iii) 
(4) (i) (iii) (ii) 

- - 

90. Identify the sentence containing correctly used article : 

(1) This man is a second Newton. .(2) What kind of a flower is it ? 

(3) He was a Napoleon of his age. (4) A falsehood is odious. 

91. Which one of the following correctly explains the word 'homicide' ? 

(a) the act of killing one's family member 

@) the act of killing oneself 

(c) the act of killing a human being 

(d) the act of killing one's community 

Answer options : 

(1) Both (a) and (4 (2) (4 only (3) (b) only (4) Both (b) and (d) 
- - 

T l W d  3lTI /SPACE FOR ROUGH WORK 



92. 'The regulations apply all office workers.' 

Which of the following prepositions fills the blank correctly in the sentence above ? 

(a) for (b) from (c) to (4 on 

Answer options : 

(1) (a) only (2) @) only (3) ( 4  only (4) Both (a) and (dl 

93. Idenhfy correct sentences. 

(a) This boy is strongest than that. 

@) Which of these two pens is the good ? 

(c) The Marathas are stronger than the Madrasis. 

Answer options : 

(1) (a) only (2) (c) only (3) @) and (c) only (4) (a), (b) and (c) 

94. Match the following expressions with their meanings : 

(a) Blow one's own humpet (i) Let secret become known 

(b) Blow the gaff (ii) Praise oneself 

(c) Blow one's top (iii) To be changeable in opinions 

(d) Blow hot and cold ' (iv) To explode with anger 

Answer options : 

(a) (b) ( 4  (4 
(1) (i) (ii) (iv) (iii) 

(2) (i) (i) (iv) (iii) 

(3) (ii) (i) (iii) (iv) 

(4) (i) (ii) (iii) (iv) 

95. The word "latent" is synonymous with 

(a) brief (b) later 

(c) loose (d) hidden 

Answer options : 

(1) (a) only (2) Both @) and ( 4  (3) (dl only (4) (4 only 

iJEZlT d 3lT /SPACE FOR ROUGH WORK 

. P.T.O. 
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Question numbers 96 to 100 : Read the following passage carefully and answer the questions 
given below it. 

Building a nation is a very complex, very different task. It requires different kinds of 
parameters, a different mindset. Building a company is easy. Productivity, efficiency, cost 
reductions, rules and regulations and so on and you can do it. 

Our collective task is very complex. When I say our task, I mean you all need to build a 
very strong, secular, united nation which gives direction not only to India but to the world. The 
world is looking and the world is interested in India's development. How do we get everybody 
to rally 7 If we can't put our own house in order how do we get everybody to rally ? When you 
look at the media, you feel that everything is falling apart. Morals are going down, work ethics 
are going bad, and everybody is s teahg  everything. The rich are becoming richer and the poor 
are not being paid attention to and it is chaos, c o h s i o n  and contradictions. 

But when you look at the young, at the tools and technology, you see great hope. You feel 
we can change the face of this country in twenty years, if we just turn it over to the young and 
that is the requirement of the day. 

So when I see these graduate students my message to them is - Build a very strong self. 
Build a self that is going to serve people. But first you have to serve yourself. If you can't serve 
yourself, you can't serve anybody. So get a good job, work hard - there is no substitute for hard 
work. Look beyond your personal interest - to community interests and really create hope. 

96. Everything is falling apart . 

Select the correct meaning of the underlined. 

(1) moving back (2) disappearing 

(3) scattering (4). disintegrating 

97. The speaker expects : 

(a) The students should steaI everything from everybody. 

@) The students should develop their personal interest. 

(c) The studerlts should keep their houses in a good order. 

(d) The students should build such a nation that can give directions to India as well as 
the world. 

Select the comect alternative. 

(1) Only (a) and ( 4  (2) MY @) and ( 4  

(3) only @) (4) Only ( 4  

?WIT& /SPACE FOR ROUGH WORK 



98. Identify the odd pair/s : 

(a) hope - despair @) confusion - chaos 

(c) collective - individuaI (d) contradiction - confirmation 

Answer options : 

(1) Only (a) and ( 4  (2) Only @) and (c) 

(3) only (b) (4) only ( 4  

99. Nation building requires 

SeIect the correct alternative to complete the sentence. 

(1) rules and regulations 

(2) media and new technology 

(3) productivity and luck 

(4) new technology and hardworking youth 

-- 

100. According to the passage : 

(a) Confusion and contradictions derogate the status of the nation. 

@) Media highlights disintegrating things in society. 

(c) Optimistic and hardworking youth is required for nation building. 

Select the correct alternative. 

(1) Only (a) (2) only @) (3) only ( 4  (4) All the above 

- 0 0 0 -  

7mmFllift 3PlT /SPACE FOR ROUGH WORK 
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